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PHYSICS AND CHEMISTRY

GENERAL INSTRUCTIONS

Examinee is direcled to read carefully the following
instructions :

1. Examinee must write his/her Roll Number in the
specified box on the top left hand corner of this page.
Answers are required lo be marked only on the
Computerised O.M.R. Answer Sheet which is being
provided 1o the examinee.

2. Besides filling in the Roll Number, the examinee has
to put his/her signature and other required details like
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76. Hypophosphorus acid is a good reducing 76. TENHICHIE UfHE A=ST FW
agent because . 3
A) it contains two P — OH bonds A) =g 3 P — OH St Tfir & |
B) it contains two P — H bonds B) sed 3l P — Hafz mita ¥ |
, C) it contains two P = O bonds C) @i P = O dig Wit 2 |
; .
D) it contains one P — H bond and one D) FH T P — H#i1g 3R & P~ OH =i l
P — OH bond e € |
77. Cly + 3Fp(excess) —E, A) 77. Cly + 3Fp(excess) — Ag)
Ag + Uy > By +C Ag + Uy > By + G
The gases A, B and C are A B Chgd
A) CIF,, UF, and CIF A) CIF,, UF, 3l CIF




C) Cli,, UF, and CIF ( C) CIF,, UF, 3iR CIF
D) CIF,, UF, and CIF, D) CIF,, UF, 3R CIF,

78. AgClis soluble in NH,OH. The solubility 78. AgCl, NH,OH # geefiet 2 |

is due to the formation of FE HFRE |
A) AgOH A) AgOH

B) Ag,0 B) Ag,0

C) [Ag(NH,),J' C) [Ag(NH,),I

D) NH,CI D) NH,CI




78. The electronic configuration of curium 79. HgfEm F1 e f9=ma (Z = 96) 8
(Z=96)is -

A) [Rn] 5f86d° 7s2
A) [Rn] 5f6d° 752
B) [Rn] 5f 6d' 7s2 B) [Rn] 5f7 6d" 7s2

C) [Rn] 5f 645 7s? C) [Rn] 5F 6d° 752

D) [Rn] 5f¢ 6d? 7s? D) [Rn] 5f 6d? 7s2
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80. Which of the following ion shows the

maximum/magnetic moment

A) Ti* A = il

-\ NN+
B) v+ j ( )
C) Cr
D) Mn2

80. Fr=1 & & T 31a iftrRan A eE A
e ?
A) Ti*
B) V2
C) Cr
D) Mn2




81.

D) Mn= >

Which of the following has square planar
structure ?

A) [Ni(CQO),]

B) [Ni CIJ*

C) [Ni(CN), >

D) [Ni(NH,)J**

D) Mn?
81. Fr=rferfiaa # & frad SR <R @ 8 ?

A) [Ni(CO),]

B) [Ni CLJ*

C) [Ni(CN),F*

D) [Ni(NH,)




g. The complexes : [Pd(CH,), (SCN),] and
[Pd(CH,),(NCS),] are the example of
which type of isomerism ?

A) lonisation isomerism
B) Linkage isomerism
C) Coordination isomerism

D) Hydrate isomerism

82. [Pd(C,H,),(SCN),) 3 [Pd(C H,),INCS),)
Fe T F SEEniE & T R ¢

A) STEHHRT SAEEMTEA
B) Tk STERMAIEH
C) TH=a HEHHIEH
D) ETEST STEEMIH



83. Crystal field splitting in octahedral
coordination entities, 'eg' set of
orbitals are

A)d,d,d,
B) dz_z dp d,
C) da_z d

J) d22 ' dxv

83. HiFTRSH AW-Y TEATE A FeH o e,
o g Fad ‘eg’ @2

A)d_d_d

xy’ dvz'
B) do_2dad,
C) dz_2 dy

D) drz’ drv
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84. For a given alkyl group, the reactivity 84. Toreh o3 i uremee we = forw SN wiaken
order of halides in SN1 reaction is 1 geged 6 afaframiica #9 2

A) R—-F>R-CI>R-Br>R-I A) R—-F>R-CI>R-Br>R-|

B) R-CI>R-F>R-Br>R-|I B) R-Cl>R-F>R-Br>R-1I

C) R-Br>R-F>R-CI>R-1 C) R-Br>R-F>R-Cl>R-|
D) R-I>R-Br>R-CI>R-F D) R-I1>R-Br>R-CI>R-F

} P Tttt 4 R ..



85. R—Cl+Nal —2c€toneé _, o _ | . NaCl 85. R—Cl+Nal —2cetone . H—|+NaC|‘
the reaction is

wifeiferan 2
A) Wurtz reaction A) S8 Wit
B) Fittig reaction B) frfzn wfafemam
C) Finkelstein reaction C) Theersa wiafsn

D) Frankland reaction D) Weheie wfafsman




86. Among the following phenols, the
strongest is

A) p-nitrophenol
B) o-nitrophenol
C) m-nitrophenol

D) p-cresol

86. Frefafa fiire & & ao@ Ao &
A) p-AgiftEATe
B) o-AgifIa
C) m-Agiftter
D) psharE



87. The enzyme that converts glucose into
ethylalcohol and carbon dioxide is

A) Invertase
B) Maltase
C) Diastase

D) Zymase

87. i USIT3H To[hist ol UfeiaTcahlaiel 3T
eTgeTiaaTse ¥ yiafdd +tar & 98




88. The major organic product in the
following reaction is

%

Hy= G ~0-CHy +HI—

CH,

i

A) CHy~ C - | + CH,OH

CH,

o

B) CH, - %‘ + CH,l
CH

2

',

C) CHy~ G ~OH + CHy
CH

x 3
't
D) CH,~ C —OH + CH,OH
|
CH

3

88. Freffiaa sfifian if e 3 e 2

L O
CH, -~ C -0 -CHy +HI—
CH

3

g

A) CH,~ C - | + CH,0H

|
CH

3

T
B) CHy~ G+ CHy
CH

2

o
C) CHy~ G ~OH+ CHy

CH

3

CH,

|
D) GHy~ C -OH + CH,OH

CH,

i N A NN N iy W e o




89. When a mixture of ethanal and propanal 89. Sl YT A Ui & firzm & dil. NaOH
A T fFe <t 8, @ P 0 & S 3E

e T e @ ?

is heated with dil.NaOH, which of the
following product is not obtained ?

A) But-2-enal A) But-2-enal
B) 2-Methylpent-2-enal B) 2-Methylpent-2-enal
C) Pent-2-enal C) Pent-2-enal

b aeee— o - i N el | D) 3'methy|bu(‘2"enal
L e = TS O ™S\



89. When a mixture of ethanal and propanal 89. el UYHTSl 31 Wiiet o fisor &1 dil. NaOH

is heated with dil.NaOH, which of the B R s &, @ Foe 8§ @ e 3ae
following product is not obtained ? Te el Ear 2 ?

A) But-2-enal A) But-2-enal

B) 2-Methylpent-2-enal

B) 2-Methylpent-2-enal

C) Pent-2-enal C) Pent-2-enal

D) 3-methylbut-2-enal D) 3-methylbut-2-enal




fum)

80. The end product (C) of the following

reaction is
CHx C-0_NHNH, = KOHethylene glycol
e ! Heat P

A) CH, —CH - CH,
OH
B) CH, — CH, - CH,

C) CH,—CH =CH,

D) CH, CH, CHO

CH NH OH/ethylene glycol
J\ . NH Iy K i
CH:/C = O » A Heat c

A) CHy ~CH - CH,
OH
B) CH,-CH,—CH,

C) CH,—CH =CH,

D) CH, CH, CHO



81. Among the following the lowest pKa
value is of

A) 4-Methoxybenzoic acid
B) Benzoic acid

C) 4-Nitrobenzoic acid
D) 4-Methylbenzoic acid

91. F A pKa T R TR R FTAR
A) 4R e
B) ez wfire
C) 4-gesiew g
D) 4-Tadierses ws



92. In the chemical reaction 92. A fage $i wfafmn o
NH,

NH,
NaNO, + HCI A HBF, o NaNO, +HCl A HBF,
273K i Heat =~ 273K ¢ Heat

The compound A and B are

@fiw A i B Fen: 8

respectively
. : . A) Benzene diazonium chloride 2
A) Benzene diazonium chloride and
Fluorobenzene
Fluorobenzene
B) Nitrobenzene and Fluorobenzene B) Nitrobenzene and Fluorobenzene |
C) Nitrobenzene and Chlorobenzene C) Nitrobenzene and Chlorobe

D) Benzene and Phenol D) Benzene and Phenol




AR L .

93. Aniline on heating with chloroform and 93. FARIGH 3T gﬁqﬁmﬁ%ﬁmm
ethanolic potassium hydroxide leads to & WY T FH W A =i TS
the formation of BATR |
A) phenyl cyanide A) e grgaTEe
B) phenyl cyanate B) fiIe @Tge
C) phenyl isocyanide C) firirer smgdESS
D) phenyl nitrile D) frare Amsfeas




94. The correct order of boiling points of
isomeric amines is

A) Tertiary amines > Secondary amines >
Primary amines

B) Secondary amines >Tertiary amines >
Primary amines

C) Primary amines > Tertiary amines >
Secondary amines

D) Primary amines > Secondary amines >
Tertiary amines

94. TEEMNNE TS & FAUTH i Gel HH 8

A) Tertiary amines > Secondary amines >
Primary amines

B) Secondary amines >Tertiary amines >
Primary amines

C) Primary amines > Tertiary amines >
Secondary amines

D) Primary amines > Secondary amines >
Tertiary amines




95.

86.

The presence or absence of hydroxyl
group on which carbon atom of sugar
differentiates RNA and DNA

A) 1¢ B) 2
C) 3 D) 4
Lactose is made of

A) a-D-glucose only

B) a-D-alucose and B-D-glucose

S v H X

C) p-D-galactose and 3-D-glucose

D) a-D-galactose and p-D-glucose

96. TFeS

95. TIEgiaae THe i Iufeufa an srgufeafd f5a

o S+t &1 el T RNA 3 DNA i
3T AT B
A) 1st B) ond
C) 3 D) 4
Y &1 B B

A) a-D-glucose Fad
B) a-D-glucose 371 B-D-glucose
C) B-D-galactose 3iiX B-D-glucose

D) a-D-galactose 3R B-D-glucose

™ 1ATArT /™m0 M



87. Which of the following polymers have
weakest intermolecdlar forces ?

A) Buna-S

B) Nylon 6,6
C) Terylene
D) Polythene

98. The monomers used for the synthesis
of Buna-N are

X
' A) 2-Methyl-1,3-Butadiene and
Acrylonitrile

B) 1,3-Butadiene and Ethylnitrile

0 0
97. frefafigs # @ few uiferm & @& & &
IR AMGF T 2 7

A) F1-S
B) 713l 6,6
C) fifem

D) uifeifem

98. FA-N & Fyeww & fow Iwgm 2 ™
T 8

A) 2-fidd -1,3-5greTs iR UhraitieRa
B) 1,3-gTe3 3R 3URTHRRS




wJ

B) 1,3-Butadiene and Ethyilnitrile
C) 1,2-Butadiene and Acrylonitrile
D) 1,3-Butadiene and Acrylonitrile

88. A broad spectrum antibiotic is




99. A broad spectrum antibiotic is 99. U ATYF W4y Uadies &

A) Paracetamol A) Yufiema
B) Aspirin B) ufafe
C) Chloramphenicol C) FeRmufera

D) Veronal D) St




Which of the following is a cationic
detergent ?

A) Sodium lauryl sulphate

B) Sodium dodecyl benzene
sulphonate

C) Polythene glycol stearate

D) Cetyltrimethyl ammonium bromide

100. Fr=fafaa 3 & S vt s 2 ?
A) Hifsan S aehe
B) Hifsan St i wedie
C) uifeefF egshia Rie
D) dferrEhrss smfEs smEs




